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REAL NUMBERS

Very Short Answer Questions

1. What is the HCF of the smallest composite

number and the smallest prime number?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pFYd5aDxRLq7

° Watch Video Solution

2. The decimal representation of 1250 will

terminate after how many places of decimal?

o Watch Video Solution

3. If HCF of a and b is 12 and product of these
numbers is 1500. Then what is LCM of these

numbers?

o Watch Video Solution



https://dl.doubtnut.com/l/_pFYd5aDxRLq7
https://dl.doubtnut.com/l/_Nu6lJEdCBo0n
https://dl.doubtnut.com/l/_4eFAwY9anjWd

4.What is the HCF of 3% x 5 and 3% x 527

o Watch Video Solution

5.1f a is an odd number, b is not divisible by 3
and LCM of a and b is P, what is the LCM of 3a

and 2b?

o Watch Video Solution



https://dl.doubtnut.com/l/_4eFAwY9anjWd
https://dl.doubtnut.com/l/_zNA1SMWWaz6X
https://dl.doubtnut.com/l/_sGR9g5yC09G4

6. If p is the prime number then what is H.C.F.

and LCM of p, p%, p°

° Watch Video Solution

7. Two positive integers p and q can be
expressed as p = ab® and ¢ = a*b, and b are

prime numbers. what is L.C.M of p and q.

° Watch Video Solution



https://dl.doubtnut.com/l/_OI3ztw706NF9
https://dl.doubtnut.com/l/_Cfb2TUic0lpJ

8. A number N when divided by 14 given the
remainder 5. What is the remainder when the

same number is divided by 77

o Watch Video Solution

, 17 . N
9. Examine whether — is a terminating

30

decimal

° Watch Video Solution



https://dl.doubtnut.com/l/_LIAdCPZUNvy0
https://dl.doubtnut.com/l/_SJmxr4K5Vi5M

10. What are the possible values of remainder

r, when a positive integer a is divided by 37

° Watch Video Solution

11. A rational number in its decimal expansion
is 1.7351. What can you about the prime
factors of g this number is expressed in the

form = P Give reason.
q

o Watch Video Solution



https://dl.doubtnut.com/l/_RrXMEqwj4jGM
https://dl.doubtnut.com/l/_S2jd4AqcEbDY
https://dl.doubtnut.com/l/_KbEYZOmVHCPt

12. Without actually performing the long
divison, find if ﬂ will have terminating or
10500

non-terminating (repeating) decimal

expansion. Give reasons for your answer

o Watch Video Solution

Short Answer Questions |

1. Show that any number of the form

4", n = N can never end with the digit 0.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_KbEYZOmVHCPt
https://dl.doubtnut.com/l/_81XLBA6Umn0O

2. Write whether the square of any positive
integer can be of the form 3m+2, where m is a

natural number. Justify answer.

° Watch Video Solution

3. Can two number have 18 as their HCF and

380 as their LCM? Give reason

o Watch Video Solution



https://dl.doubtnut.com/l/_81XLBA6Umn0O
https://dl.doubtnut.com/l/_NdsUUDFaqUuO
https://dl.doubtnut.com/l/_rsG4O1nY2f5q
https://dl.doubtnut.com/l/_t2teO3bnrbzL

4, Write a rational number between

v/3 and /5.

° Watch Video Solution

5. The product of two consecutive integers is
divisible by 2. Is this statement true or false.

Give Reason?

° Watch Video Solution



https://dl.doubtnut.com/l/_t2teO3bnrbzL
https://dl.doubtnut.com/l/_clD4EhgZ0kpA

6. Explain why 3 X 5 X 7+ 7 is a composite

number.

o Watch Video Solution

7.What is the least number that is divisible by

all the numbers 1to 10

o Watch Video Solution

8.Find the sum 0. 68 + 0. 73



https://dl.doubtnut.com/l/_uODDrkh9Jhui
https://dl.doubtnut.com/l/_ySx0L5s6AAhi
https://dl.doubtnut.com/l/_dQhHkg6FVFj5

o Watch Video Solution

9. The product of two numbers is 600 and if
LCM of both the numbers are 120 then find

their HCF.

o Watch Video Solution

Short Answer Questions li



https://dl.doubtnut.com/l/_dQhHkg6FVFj5
https://dl.doubtnut.com/l/_1yQWZz5RIIOz

1. An army contingent of 616 members is to
march behind an army band of 32 members in
a parade. The two groups are to march in the
same number of columns. What is the
maximum number of columns in which they

can march ?

o Watch Video Solution

2. Find the LCM and HCF of the following

integers by applying the prime factorisation


https://dl.doubtnut.com/l/_ZXAOOyCWx2oP
https://dl.doubtnut.com/l/_uDdbWRNw89xn

method. (i) 12,15 and 21 (ii) 17, 23 and 29 (iii) 8,9

and 25

° Watch Video Solution

3.Find the LCM and HCF of the following pairs
of integers and verify that LLCM x HCF =
product of the two numbers.(i) 26 and91 (ii)

510 and 92 (iii) 336 and 54

o Watch Video Solution



https://dl.doubtnut.com/l/_uDdbWRNw89xn
https://dl.doubtnut.com/l/_uO1R759d13uE

4. There is a circular path around a sports
field. Soma takes 18 minutes to drive one
round of the field, while Ravi takes 12 minutes
for the same. Suppose they both start at the
same point and at the same time, and go in

the same direction. Afte

o Watch Video Solution

5. Write down the decimal expansions of the

following numbers.


https://dl.doubtnut.com/l/_p7m2JHZKaJdh
https://dl.doubtnut.com/l/_ADE5YCGrURt7

() 2 (i) ——
" 50 " 1600

o Watch Video Solution

6. Express the numbers 0. 3178 in the form of

X a
rational numbers Z

° Watch Video Solution

7. If n is an odd positive integer, show that

(n2 — 1) is divisible by 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_ADE5YCGrURt7
https://dl.doubtnut.com/l/_3YUF7QLFss7R
https://dl.doubtnut.com/l/_bDPkjD4nCBQD

8. The LCM of two number is 14 times their
HCF. The sum of LCM and HCF is 600. If one

number is 280, then find the other number.

o Watch Video Solution

9. express 0.125 in the form of %

o Watch Video Solution



https://dl.doubtnut.com/l/_bDPkjD4nCBQD
https://dl.doubtnut.com/l/_Bm7aoUzAUPub
https://dl.doubtnut.com/l/_UVrdkknOrCay

10. Show that any positive odd integer is of
the form 6g + 1 or 6g + 3 or 6g + 5, where q

Is some integer.

o Watch Video Solution

1. The decimal expansions of some real

numbers are given below. In each case, decide

whether they are rational or not. If they are
. ol e b

rational, write it in the form —.

q
(i) 0.140140014000140000... (ii) 0. 16

| & I


https://dl.doubtnut.com/l/_qi1s2w46ZMmz
https://dl.doubtnut.com/l/_9ul9KIqnxm0w

| ¥ Watch Video Solution |

Long Answer Questions

1. Use Euclid's division lemma to show that the
square of any positive integer is either of the
form 3mor 3m + 1for some integer m.[Hint:
Let x be any positive integer then it is of the
form 3q, 3q + lor 3q + 2Now square each of

these and sho

o Watch Video Solution



https://dl.doubtnut.com/l/_9ul9KIqnxm0w
https://dl.doubtnut.com/l/_9vICaEx5mDW4
https://dl.doubtnut.com/l/_cePchcm1zx0P

2. Show that one and only one out of
n,n + 2 or ,n + 4 is divisible by 3, where n

is any positive integer.

o Watch Video Solution

3. Use Euclid's division algorithm to find the

HCF of 960 and 432

° Watch Video Solution



https://dl.doubtnut.com/l/_cePchcm1zx0P
https://dl.doubtnut.com/l/_QRrqrigvNBwG

4. find the HCF and LCM of 30, 72 and 108. Also

show that HCF x LCM # Product of the

three numbers

o Watch Video Solution

5. Prove that /7 is an irrational number.

o Watch Video Solution

6. Prove that 5 — /3 is an irrational number.



https://dl.doubtnut.com/l/_DoW11AbhhMvp
https://dl.doubtnut.com/l/_g5oBRcQkqf5S
https://dl.doubtnut.com/l/_5ayYjRps1rVI

o Watch Video Solution

7. Using Euclid's division algorithm, find
whether the pair of numbers 847, 2160 are co-

prime or not.

o Watch Video Solution

8. Check whether 6" can end with the digit '0'

(zero) for any natural number n .

o Watch Video Solution



https://dl.doubtnut.com/l/_5ayYjRps1rVI
https://dl.doubtnut.com/l/_A5GB05ZdqAha
https://dl.doubtnut.com/l/_XfvEV6YB9fdZ

Hots Higher Order Thinking Skills

1. Show that there is no positive integer n for

which v/n — 1 + /n + lisrational.

° Watch Video Solution

2. Let a, b, ¢, k be rational numbers such that
k is not perfect cube if a + bk + cks =0

provethata =b=c =10

l ° Watch Video Solution


https://dl.doubtnut.com/l/_XfvEV6YB9fdZ
https://dl.doubtnut.com/l/_Z5C6x09X4mBc
https://dl.doubtnut.com/l/_bgsegBfAnMbu

3.Find the largest number that will divide 398,
436 and 542 leaving remainders 7,11 and 15

respectively.

° Watch Video Solution

Proficiency Exercise Very Short Answer Questions

1. What can you say about the prime

factorisation of the denominators of the


https://dl.doubtnut.com/l/_bgsegBfAnMbu
https://dl.doubtnut.com/l/_xvVm2eUJtXHy
https://dl.doubtnut.com/l/_lyMamCHUxL8W

rational number 0. 1347

o Watch Video Solution

2. A rational number in its decimal expansion
is 1.7112. What can you say about the prime
factors of g, when this number is expressed in

the form p/q?

° Watch Video Solution



https://dl.doubtnut.com/l/_lyMamCHUxL8W
https://dl.doubtnut.com/l/_OmaZ4L2cNZlA

3. State whether 200 has terminating or non-

terminating repeating decimal expansion.

o Watch Video Solution

4. What type of decimal expansion does
29
22 x5 x 7

have?

° Watch Video Solution



https://dl.doubtnut.com/l/_nkAtbnfbW366
https://dl.doubtnut.com/l/_5v8PcMowp0u3

5. If two positive integers a and b are written
42 _ .3
as a=z"y" and b= z"y, where x, y are

prime numbers, then find HCF (a, b).

o Watch Video Solution

6. If positive integers a and bare written as
a = zy* and b = z’y, wherex, y are prime

numbers, then find LCM (a, b)

o Watch Video Solution



https://dl.doubtnut.com/l/_Cbs6QeF2f3AC
https://dl.doubtnut.com/l/_38lljAPn3Ddr
https://dl.doubtnut.com/l/_dUikbSLeAaC0

7. After how many decimal places will the

decimal expansion of the rational number

47
2352

terminate?

° Watch Video Solution

8. After how many places will the decimal

[ f 189 t inate?
expansion of —o- terminate:

o Watch Video Solution

Proficiency Exercise Short Answer Questions |



https://dl.doubtnut.com/l/_dUikbSLeAaC0
https://dl.doubtnut.com/l/_QhtrRrYhC7e9

1. The number 525 and 3000 are both divisible
only 3,515,25,75. What is HCF (525, 3000)?

Justify your answer.

o Watch Video Solution

2. After how many places will the decimal

, 147 :
expansion of e terminate?

° Watch Video Solution



https://dl.doubtnut.com/l/_DvIBMeN6F7vi
https://dl.doubtnut.com/l/_495MkzNPsIxA

3. Given that LCM (26, 169) = 338, find HCF (26,

169).

o Watch Video Solution

4. Write whether every positive integer can be
of the form 4q + 2 where q is an integer,

Justify your answer

o Watch Video Solution



https://dl.doubtnut.com/l/_IBI8typUXSpp
https://dl.doubtnut.com/l/_l4UZzFvwrlCR

5. A positive integer is the form of 3gq+1 q,
being a natural number. Can you write its
square in any form other than 3m+1 i.e. 3m or

3m+2 for some integer? Justify your answer.

° Watch Video Solution

6. Find the least number that is divisible by

first five even numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_CzDC8OwluZSX
https://dl.doubtnut.com/l/_ykTxMt60hvAq
https://dl.doubtnut.com/l/_KNmnFxyjaOxb

7. Find HCF

(:B2 — 3z —|—2) and (az2 — 4x —|—3).

of

o Watch Video Solution

8.Find the LCM of 2 — 4 and z* — 16.

o Watch Video Solution

Proficiency Exercise Short Answer Questions li



https://dl.doubtnut.com/l/_KNmnFxyjaOxb
https://dl.doubtnut.com/l/_lD2yRLjrE8Bp

1. Show that 12" cannot end with the digits 0

or 5 for any natural number n

o Watch Video Solution

2.1f n is an odd integer then show that n® — 1

is divisible by 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_qk6snL4ssmwf
https://dl.doubtnut.com/l/_4hWcdMxbknGS

3. Find the HCF (210, 55) by Euclid's Division

algorithm

° Watch Video Solution

4. Find the greatest number that will divide
445, 572 and 699 leaving remainders 4,5 and 6

respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_PA9lK08iJeIT
https://dl.doubtnut.com/l/_3tCYxp3maGZi

5. Write the denominator of the rational

257

number =000

in the form 2™ x 5", where m,
n and non-negative integers. Hence, write its

decimal expansion without actual division.

° Watch Video Solution

6. Using prime factorisation method, find the

LCM or 21, 28, 36, 45.

o Watch Video Solution



https://dl.doubtnut.com/l/_VkzTkiTGvrYz
https://dl.doubtnut.com/l/_xBpDCWoNar2k
https://dl.doubtnut.com/l/_8fERDlOWD0tY

7. Prove that 7 is irrational.
3

o Watch Video Solution

8. Use Euclid's division algorithm to find the

HCF of: (i) 4052 and 12576 (ii) 216 and 297

o Watch Video Solution

9.Find the greatest number of 6 digits exactly

divisible by 24,15 and 36.

| s |


https://dl.doubtnut.com/l/_8fERDlOWD0tY
https://dl.doubtnut.com/l/_bziSKMdEyyhb
https://dl.doubtnut.com/l/_EZPTdApxtvPG

| ¥ Watch Video Solution ]

10. express the given decimal expansion in the

form of P
q

0.226

o Watch Video Solution

11. Show that 9" cannot end with the digit 2

foranyn € N.

o Watch Video Solution



https://dl.doubtnut.com/l/_EZPTdApxtvPG
https://dl.doubtnut.com/l/_AXG81y77IJiD
https://dl.doubtnut.com/l/_wdoFDzbpFkm1

12. Express 3825 as product of its prime factors

using factor tree.

° Watch Video Solution

13. Find the HCF of 306 and 657 by the prime

factorisation method. Hence find their LCM.

o Watch Video Solution



https://dl.doubtnut.com/l/_npDJoagEO77O
https://dl.doubtnut.com/l/_BjX4AzAmC86f

14. Show that the square of any odd integer is

of the form 4m+1, for some integer m.

° Watch Video Solution

15. Show that 2,/3 is an irrational number.

° Watch Video Solution

16. The length, breadth and height of a room

are 8m and 25cm, 6m and 75m and 4m 50cm,


https://dl.doubtnut.com/l/_M5rE4FkBywZV
https://dl.doubtnut.com/l/_YADx2tIYsJ2I
https://dl.doubtnut.com/l/_g0YN1DPDzYpE

respectively. Determine the longest rod which
can measure the three dimensions of the

room exactly.

° Watch Video Solution

17. In a morning walk, three persons step off
together and their steps measure 40cm, 42cm
and 45cm, respectively. What is the minimum
distance each should walk so that each can

cover thesame distance in complete steps?

° Watch Video Solution



https://dl.doubtnut.com/l/_g0YN1DPDzYpE
https://dl.doubtnut.com/l/_8kUeOJ2NdmHX

18. Find the LCM and HCF of the following
pairs of integers and verify that L
LCM x HCF = product of the two
numbers.(i) 26 and91 (ii) 510 and 92 (iii) 336

and 54

o Watch Video Solution

19. Find the largest number which divides 318
and 739 leaving remainder 3 and 4

respectively.


https://dl.doubtnut.com/l/_8kUeOJ2NdmHX
https://dl.doubtnut.com/l/_UxDOOqql9rm5
https://dl.doubtnut.com/l/_08StBNPyaRkE

° Watch Video Solution

Proficiency Exercise Long Answer Questions

1. Show that the cube of a positive integer of
the form 6g+7,q is an integer and

r=0,1,2,3,4,5 is also of the form 6m-+r

° Watch Video Solution



https://dl.doubtnut.com/l/_08StBNPyaRkE
https://dl.doubtnut.com/l/_IMev0wBq7aO3

2. Show that one and only one out of
n,m+4,n+8 n+ 12 and n + 16 is

divisible by 5, where n is any positive integer.

o Watch Video Solution

3. Use Euclid's division algorithm to find HCF of

177 and 210

° Watch Video Solution



https://dl.doubtnut.com/l/_WmkIn3U0KaY9
https://dl.doubtnut.com/l/_R58Cn9w0kVMX

4. Show that the square of any positive integer
cannot be of the form 6m+2 or 6m+5 for some

integer q.

o Watch Video Solution

5. Prove that 2 + /5 is an irrational number.

o Watch Video Solution

6. Prove that 3 — /5 is an irrational number



https://dl.doubtnut.com/l/_dxy9Z33j0W2A
https://dl.doubtnut.com/l/_fzmYDjBmSrMr
https://dl.doubtnut.com/l/_7taMtwTUBVo1

o Watch Video Solution

7. Prove that ,/p + ,/q is an irrational, where

p and q are primes.

o Watch Video Solution

8. Prove that /b is an irrational number and
hence show that 3 + /5 is also an irrational

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_7taMtwTUBVo1
https://dl.doubtnut.com/l/_Hn8MF7Q59eb4
https://dl.doubtnut.com/l/_qQg37Rfpd96a

9. Show that one and only one out of
n,m+ 2 or ,n + 4 is divisible by 3, where n

Is any positive integer.

o Watch Video Solution

Self Assessment Test

1. What is the LCM of p and q where

p = a’b? and q = b%a??

l ° Watch Video Solution


https://dl.doubtnut.com/l/_qQg37Rfpd96a
https://dl.doubtnut.com/l/_qSkhmJtkh0kr
https://dl.doubtnut.com/l/_grjJf21uraqb

2. A number N when divided by 10,000 gives
the remainder 57. What is the remainder when

the same number is divided by 1000.

° Watch Video Solution

3. Euclid's division Lemma states that for two
positive integers a and b, there exist unique
integers q and r such that a = bq + r where r

must satisfy.



https://dl.doubtnut.com/l/_grjJf21uraqb
https://dl.doubtnut.com/l/_oOP3s4zTMJPg
https://dl.doubtnut.com/l/_BMqzhmhJKG2w

Watch Video Solution

4. After how many places of decimals will the

23457
A

decimal expansion of terminate?

o Watch Video Solution

5. Find the HCF of 867 and 255, using Euclid's

division algorithm.

o Watch Video Solution



https://dl.doubtnut.com/l/_BMqzhmhJKG2w
https://dl.doubtnut.com/l/_EHeLmsP15lwW
https://dl.doubtnut.com/l/_25DWVG8LCZ5p
https://dl.doubtnut.com/l/_KvMgOAKFqsmM

6. Show that every positive even integer is of
the form 2q , and that every positive odd
integer is of the form 2¢q 4+ 1, where g is some

integer.

° Watch Video Solution

7. Express 32760 as product of its prime

factors using factor tree.

o Watch Video Solution



https://dl.doubtnut.com/l/_KvMgOAKFqsmM
https://dl.doubtnut.com/l/_kJ6EPWi2G0BO
https://dl.doubtnut.com/l/_wutZxc7W4kdy

8. Show that the square of any positive integer
cannot be of the form 6m+2 or 6m+5 for some

integer q.

o Watch Video Solution

3
9. Prove that ,/2+ —— is an irrational
V2

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_wutZxc7W4kdy
https://dl.doubtnut.com/l/_dzS4yGcug1hH

10. Use Euclid's division lemma to show that
the cube of any positive integer is of the form

I, 9m + lor 9m + 8.

o Watch Video Solution

11. After how many places decimal expansion

3147
1875

of will terminate

° Watch Video Solution



https://dl.doubtnut.com/l/_6gBoJfDGJhft
https://dl.doubtnut.com/l/_XIWFJJr87wtu

